SHEMARPE SRR TRAEE  BHA - 96.10.04

& HEE i
1-3 ¥ EEREE
& Rl e %
— EIBSE (5958 10 )

1+ (E) i A(05), B(-2,-1), C(1,4), D(3,1), P(xy) » ¥ DP = AC—2BC - ]| P iy
#1175, (A)10 (B)4 (C)0 (D)-4 (E)-10

i#17]: AC=(L-1), BC=(35) ..DP=(-5-11)  .".P(-2,-10)

2+ (A) P%A?::(x,y), CD=(35), BD=(21) - ¥ AB//CD - [[|5x-3y= (A)7 (B)1(C)0

(D)-1(E)-7
fE+7 A@zﬁ+(§)+[¥3:(x+l,y+4) ’ CTZ)z(B,S)
"X_-i_l:u ..‘5X—3y:7
3 5
n T e e s s X=-1+t
3~(D) rl%A(—l,l), B(5,7) - [[I76FE AB sy 4 A= i a1 (A){ Lot » 0<t<1
y=1+
X=5+2t =5-2t X=-1+3t
(B) » =1<t<0 (C) » 0<t<1 (D) » 0<t<L?2
y=7+2t y=7-2t y=1+3t
X =-1+06t
(E) » =1<t<0
y =1+6t
X=-1+3t
f#47| - » 0<t<L?2
y=1+3t

4-(B) %@@L w«grw bx=3t—2, y=5t+4 - [l VR
(A)9 (B)— (C)— (D)—— (BE)-2

— ... e - Tap T . L 1.
f7] - A B, C = BIFHAL L ABIAC ..—3:y Sy=-3

—ERE (BE 10 9)

1-Fa=@-1,b=(-43,teR > ¥ c=3a+tb - [t o ol el il

N

=l 2;3
5

o

1347|: c =3a+th =(9—4t,~3+31)
ol =(9—4t)2+(—3+3t)2:25t2—90t+90:25(t—%)2+9 ; .-.t:%ﬂnﬁ Cclt ]
kR

2~F%E:(3,2),6:(1,-2),?:(—3,4) s # tall(b+tc), t£0 > PHEt =

£1H



.4

o _»7%‘ -
5
1247 ta=t(32)=(3,2t) » brtc=(L-2)+t(-3,4)=(1-3t-2+4)
tall(b+te), b o2t G102 —ot—6t? » 1812
1-3t  —2+4t

=0 (F2) A
C.t=0 (T I:[) .F[&g

—8t=0 2t(9%t—4)=0

3. %A(43)” AB =ikl a = (- 12)[f[| » = AB|=5 - B B R

1 (4-5,3+25)

4] : :J‘( 12)=(—/5,25) .".B(4-5,3+2V5)

4. P%a4 (21; b=(-11), c=(6,-1)>% c=aa+pb > [la=____, f=__
B2l 53

7] C—aassb ;.{f;jglﬁ va=t p--l

5-7a=(34), b//aZ bl=1-[b-= b v e=a s ol=10 -

—_

o

C =
(£ %] (— —) (—— ——) (-6,-8)

Tl s 34y 3 4T 003 4 o
[i244] : b_ir' (55)5&( 1 5), ¢ =10 ( - 5) (-6,-8)
a

_ -

2;+§: a+b

o (M dAg%A)

6. wa=@D, b=00* X = Y=
?—?:23—43
: (211)1 (01_1)
2x+y=a+b  _~ —~ —~ = = o~
247 - Yy =3x=3a-3b ..x=a-b, y=3b-a
Xx—y=2a-4b
" x=(21), y=(0,-1)

7 AL A(-1,12), B, - R F PR L AP:PB=4:3 [ P il L4515

i
1 (3,4); (27,-44)

£2H



. OP zgcﬁéo‘s — (3,4)f OP = 40B—30A = (27,-44)

8« AABC I+ AB=(512), BC=(3-4) - [[|AABC AU, .

(£ %]: 18+8V2
[[#17] : AC=AB+BC=(8,8)

" ABC 07 15 AB|+|AC| +[BC| =13+5+8v2 = 18+842

X=5+8t
9~ Byt
Sl Y {y:2—6t

A t= O LR BAG, 2)
E,'I»tzl Eﬁ s AL - %ﬁB(lB, -4)

| te R ATAJILD R :

. _4-2 -6 3
A B = B ST RS 8, =—=-=
] T i S
10 ~ Fof3 A6, -2), B9, 4) B sl gt R - e
(5 %]: AB=(9+6, 4+2)=(15, 6)=3(, 2)
X=—6+5t --v---.. @)
, teR

7L AB [l By =V i
K e {y:—2+2t ......... )

BVt Al Ox2-@x5 5 1 2x -5y = -2

11+ A2, 3), B(-4,5) » k] I [ 7 2t haly « (i3 AB

(2)455BA
(3)55FL AB
— X=2-6t — X=-4+6t
(5% (AB =  teR (2)BA= iso
y=3+2t =5-2t
— X=2-6t
(3) AB = 0<t<1
y=3+2t
12 ~ @ A(@2,-3), B(L,-1), C(7,-3) > ¥, AP+2BP+CP =0 - [ P il 45 0
2 @+2§5+@=6:@—&+2@—2@+5ﬁ—&3=6
40P = OA+20B+0C = (2,-3)+ 2(1,~1)+ (7,-3) = (11,-8) - OT’:(%,—Z),P(%,—Z)
13 + SFRTP(-L 2 L x— 2y +3 =0 1 s S P BN

Q-3 el HIPQ = (2t —3+1)2 + (t—2)° = /5(t—g)2+g
cape 6 == . [4 25 . 36
F'|t=gE\j]:PQ£§J tb\/ng > = [#ﬁ%ﬁﬁﬂ%ﬂ-(y(—g,g)"

£3H



14~ F/\ABC = "IiHT A2,1), B(4,-2), C(-3,-2) » ¥ G HEAABC fiugi - [l

(DG Bl 45 (2)%, 0(5,2) » ] OA+OB+0C| =

. OG—%OA+§O73+;&J (1,-1) ..G(1,-1)

# 0(5,2) » ] OA+OB+0C| = 30G|=15

15~ & A(-3,4), B(-2,2) » | P(x, y) 7+ AB P2 » ]
2 +y2 +4 VAT e ] fif o

[£%]: PecAB & AP=tAB, 0<t<1

FPXY) L (x+3y-4)=1(-2+32-4)
X=-3+t,y=4-2t
X2 4+ Y7 4 A= 2(-3+1)2 + (4— 212 +4 = 6t° — 28t + 38 = 6(t——) 1;
fEit=1 116 - t=0 - 38 -
6 - “I4IAABC fI1 5 A(1, 1), B(13, —4), C(5, 4),
()%, £A VT 5350 BCH D » of D 148 .
@)%, ZA V9 #2515 BCH E > iR E L4 o
EESE AB:\/(13—1) +(—4-1)? =13,AC = /(5-1)? + (4-1)? =5
(1) AD £h /A V£ 53580755 4 ETBD:CD=AB: AC=13:5
13-5+5:13 130 65

o 13+5 18 9 65 16
DX, y) o fIP TR 13.445.(-4) 16 (— —)
T 1345 9
(2)"." AE £5 2 A I 9F # 53R8 flid 53 F BT BE:CE= AB: AC=13:5
13.5-5.13
13-5 .
FEMY) P TR Bas(a T, » .E(0, 9)
13-5 8

£ 4H



